Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	5,000.00000	5,000.00	7,478.00000	7,478.00	8,800.00000	8,800.00
PERFOR PAYMEN	MANCE BOND AND T BOND	DOLL						
0004	153009P	(1)	3,000.00000	3,000.00	550.00000	550.00	5,000.00000	5,000.00
	ART PROGRESS LE AND UPDATES	LS						
0005	154003P	(1)	15,000.00000	15,000.00	94,787.57000	94,787.57	113,295.00000	113,295.00
MOBILIZA	ATION	LS						
8000	157004M	1.000	6,000.00000	6,000.00	2,850.00000	2,850.00	7,500.00000	7,500.00
CONSTR	UCTION LAYOUT	DOLL						
0012	159003M	30.000	0.01000	0.30	1.00000	30.00	0.01000	0.30
BREAKA	WAY BARRICADE	U						

Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO		
Alt Se	t / Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	Cat Alt Member:		
0013	159006M	80.000	0.01000	0.80	1.00000	80.00	0.01000	0.80	
DRUM		U							
0014	159009M	500.000	0.01000	5.00	1.00000	500.00	0.01000	5.00	
TRAFFIC	CONE	U							
0015	159012M	560.000	0.01000	5.60	1.00000	560.00	10.00000	5,600.00	
CONSTR	RUCTION SIGNS	SF							
0016	159015M	2.000	500.00000	1,000.00	1,585.00000	3,170.00	1,000.00000	2,000.00	
CONSTR SIGN, 4'	RUCTION IDENTIFICAT X 8'	TION U							
0017	159027M	2.000	1,000.00000	2,000.00	385.00000	770.00	1,000.00000	2,000.00	
FLASHIN	NG ARROW BOARD, 4'	X 8' U							



Contract ID: 14117 Counties: MIDDLESEX

**Letting Date:** May 08, 2014 **District(s):** C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	Line No / Item ID Item Description  Alt Set / Alt Member Quantity and Units		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON:</b> 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0018	159030M	2.000	1,500.00000	3,000.00	825.00000	1,650.00	2,500.00000	5,000.00
PORTAE SIGN	BLE VARIABLE MESSA	AGE U						
0019	159108M	2.000	2,000.00000	4,000.00	5,000.00000	10,000.00	5,000.00000	10,000.00
	CONTROL TRUCK VED CRASH CUSHION	VITH U						
0020	159126M	27,500.000	0.21000	5,775.00	0.23000	6,325.00	0.23000	6,325.00
TEMPOF 4"	RARY TRAFFIC STRIP	PES, LF						
0021	159138M	40.000	65.00000	2,600.00	1.00000	40.00	0.01000	0.40
HMA PA	TCH	Т						
0022	160004M	1.000	1,000.00000	1,000.00	1,000.00000	1,000.00	1,000.00000	1,000.00
FUEL PF	RICE ADJUSTMENT	DOLL						



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

		10012 00 0001112						
	Line No / Item ID Item Description				(2) INTERCOU ASSOC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0023	160007M	1.000	3,800.00000	3,800.00	3,800.00000	3,800.00	3,800.00000	3,800.00
ASPHAL	T PRICE ADJUSTME	NT DOLL						
0024	161003P	(1)	1,000.00000	1,000.00	3,500.00000	3,500.00	5,000.00000	5,000.00
FINAL C	LEANUP	LS						
0025	201003P	(1)	1,000.00000	1,000.00	3,500.00000	3,500.00	30,000.00000	30,000.00
CLEARI	NG SITE	LS						
0026	302051P	30.000	20.00000	600.00	55.00000	1,650.00	50.00000	1,500.00
	GRADED AGGREGAT OURSE, VARIABLE ESS	TE CY						
0027	401009P	52,769.000	2.75000	145,114.75	3.50000	184,691.50	3.00000	158,307.00
HMA MII	LLING, 3" OR LESS	SY						



Contract ID: 14117 Counties: MIDDLESEX

**Letting Date:** May 08, 2014 **District(s):** C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description	Item Description		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		PH DEFINO CO INC T/A NTRCTING CO
Alt Set / Alt Membe	er Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0028 401015P	120.000	10.00000	1,200.00	3.50000	420.00	10.00000	1,200.00
CONCRETE MILLING	S SY						
0029 401021M	100.000	35.00000	3,500.00	30.00000	3,000.00	65.00000	6,500.00
HOT MIX ASPHALT F REPAIR	PAVEMENT SY						
0030 401027M	44,500.000	0.35000	15,575.00	0.30000	13,350.00	0.30000	13,350.00
POLYMERIZED JOIN	T ADHESIVE LF						
0031 401030M	8,643.000	0.01000	86.43	0.01000	86.43	0.01000	86.43
TACK COAT	GAL						
0032 401054M	1,366.000	80.00000	109,280.00	78.00000	106,548.00	80.00000	109,280.00
HOT MIX ASPHALT 1 SURFACE COURSE	2.5 M 64 T						



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY				Cat Al	t Set:	Cat A	It Member:	
0033 4	01060M	6,233.000	81.00000	504,873.00	82.00000	511,106.00	80.00000	498,640.00
HOT MIX AS	SPHALT 12.5 M 76 COURSE	5 T						
0034 4	01108M	50.000	175.00000	8,750.00	85.00000	4,250.00	100.00000	5,000.00
CORE SAMI ASPHALT	PLES, HOT MIX	U						
0035 4	53006M	275.000	160.00000	44,000.00	200.00000	55,000.00	200.00000	55,000.00
_	H CONCRETE REPAIR, HMA	SY						
0036 6	602210M	16.000	325.00000	5,200.00	250.00000	4,000.00	400.00000	6,400.00
BICYCLE SA	AFE GRATE	U						
0037 6	602213M	42.000	325.00000	13,650.00	250.00000	10,500.00	350.00000	14,700.00
CURB PIEC	E	U						



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

**Letting Date:** May 08, 2014 **District(s):** C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Cat Al	t Set:	Cat Alt Member:			
0038 602214M	23.000	215.00000	4,945.00	180.00000	4,140.00	250.00000	5,750.00
INLET FACE PLATE	U						
0039 606012P	23.000	110.00000	2,530.00	1,350.00000	31,050.00	125.00000	2,875.00
CONCRETE SIDEWALK, 4"	THICK SY						
0040 606084P	9.000	275.00000	2,475.00	280.00000	2,520.00	300.00000	2,700.00
DETECTABLE WARNING S	URFACE SY						
0041 607021P	26.000	110.00000	2,860.00	82.00000	2,132.00	75.00000	1,950.00
9" X 18" CONCRETE VERTI CURB	CAL LF						
0042 610003M	30,000.000	0.32000	9,600.00	0.35000	10,500.00	0.34000	10,200.00
TRAFFIC STRIPES, LONG L EPOXY RESIN 4"	LIFE, LF						



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0043 610009M	750.000	4.25000	3,187.50	4.25000	3,187.50	4.10000	3,075.00
TRAFFIC MARKINGS, THERMOPLASTIC	SF						
0044 610012M	250.000	31.75000	7,937.50	27.00000	6,750.00	28.00000	7,000.00
RPM, MONO-DIRECTIC LENS	NAL, WHITE U						
0045 610018M	140.000	31.75000	4,445.00	27.00000	3,780.00	28.00000	3,920.00
RPM, MONO-DIRECTIO AMBER LENS	NAL, U						
0046 610024M	390.000	4.25000	1,657.50	1.00000	390.00	2.00000	780.00
REMOVAL OF RPM	U						
0047 702042M	1.000	1,500.00000	1,500.00	1,975.00000	1,975.00	3,500.00000	3,500.00
PUSH BUTTON	U						



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contract Description: ROUTE 35 SOUTHBOUND FROM CLIFF AVENUE TO ROUTE 9

	Line No / Item ID Item Description		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set / Al	t Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

**Section Totals:** \$947,153.38 \$1,101,617.00 \$1,117,039.93



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description		, ,		• •	) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 CONSTRUCT			ON ENGINEERING Cat Alt Set:		Cat Alt Member:			
0006	155009M	1.000	9,500.00000	9,500.00	5,000.00000	5,000.00	10,000.00000	10,000.00
FIELD O	FFICE TYPE C SET U	JP U						
0007	155027M	5.000	2,500.00000	12,500.00	1,500.00000	7,500.00	2,500.00000	12,500.00
FIELD OFFICE TYPE C MO MAINTENANCE								
Secti	ion Totals:			\$22,000.00		\$12,500.00		\$22,500.00



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA CONTRACTING (2) II CO., INC.			(2) INTERCOUNTY PAVING ASSOC LLC		PH DEFINO G CO INC T/A NTRCTING CO
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0003	NON-PARTICII	PATING	Cat Al	t Set:	Cat A	It Member:	
0002	152004P	1.000	4,000.00000	4,000.00	2,800.00000	2,800.00	2,000.00000	2,000.00
-	S AND CONTRACT CTIVE LIABILITY NCE	OR'S DOLL						
0003	152015P	1.000	1.00000	1.00	1.00000	1.00	13,000.00000	13,000.00
POLLUT	ION LIABILITY INSU	JRANCE DOLL						
Section	on Totals:			\$4,001.00		\$2,801.00		\$15,000.00



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 EROSION CO			NTROL	Cat Al	t Set:	Cat Alt Member:		
0009	158027M	30.000	20.00000	600.00	10.00000	300.00	50.00000	1,500.00
INLET F	ILTER TYPE 1	SF						
0010	158063P	(1)	0.01000	0.01	500.00000	500.00	1,500.00000	1,500.00
CONCR	ETE WASHOUT SYSTI	EM LS						
0011	158072M	2.000	0.01000	0.02	1.00000	2.00	1,000.00000	2,000.00
OIL ONL TYPE 1	Y EMERGENCY SPILL	_KIT, U						
Secti	on Totals:			\$600.03		\$802.00		\$5,000.00



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID

Item Description		CO.,	INC.	ASSO		TRÚCKING	PH DEFINO S CO INC T/A NTRCTING CO
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	ROUTE 35 OV COASTLINE S	ER NORTH JER TRUCTURE	RSEY Cat Al	Set:	Cat A	It Member:	
0051 555025P	115.000	420.00000	48,300.00	480.00000	55,200.00	300.00000	34,500.00

Section	on Totals:			\$48,300.00		\$55,200.00		\$34,500.00
RETROF SYSTEM	IT STRIP SEAL JOINT	LF						
0051	555025P	115.000	420.00000	48,300.00	480.00000	55,200.00	300.00000	34,500.00



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(1) STAVOLA CO., I		(2) INTERCOUNTY PAVING ASSOC LLC		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0006	PINE AVENUE ROUTE 35 NO STRUCTURE	E (CR 688) OVER RTHBOUND	Cat Al	t Set:	Cat A	It Member:	
0052	551014P	90.000	160.00000	14,400.00	34.00000	3,060.00	70.00000	6,300.00
DECK JO	INT RESEAL	LF						
0053	551006M	50.000	110.00000	5,500.00	130.00000	6,500.00	120.00000	6,000.00
REPAIR (	OF CONCRETE DEC	K, SF						
Section	on Totals:			\$19,900.00		\$9,560.00		\$12,300.00



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	o / Item ID escription		(1) STAVOLA CONTRACTING CO., INC.		(2) INTERCOU ASSO		(3) JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	
Alt Set	t / Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0007	ROUTE 35 OV AVE (CR 615-S STRUCTURE	ER BORDENTOW SB ONLY)	'N Cat Alt	: Set:	Cat A	It Member:	
0054	551014P	55.000	160.00000	8,800.00	34.00000	1,870.00	70.00000	3,850.00
DECK JO	DINT RESEAL	LF						
0055	551006M	100.000	110.00000	11,000.00	130.00000	13,000.00	120.00000	12,000.00
REPAIR TYPE B	OF CONCRETE DECK	K, SF						
Section	on Totals:			\$19,800.00		\$14,870.00		\$15,850.00



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contract Description: ROUTE 35 SOUTHBOUND FROM CLIFF AVENUE TO ROUTE 9

	No / Item ID Description		(1) STAVOLA C CO.,		(2) INTERCOU ASSO		TRÚCKING	PH DEFINO CO INC T/A NTRCTING CO
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0008	LANDSCAPE		Cat Alt	t Set:	Cat A	It Member:	
0048	803006M	50.000	11.00000	550.00	11.00000	550.00	2.00000	100.00
PREPAR	RATION OF EXISTIN	IG SOIL SY						
0049	806006P	50.000	2.25000	112.50	1.00000	50.00	2.00000	100.00
FERTILIZ A-3	ZING AND SEEDING	G, TYPE SY						
0050	809003M	50.000	2.25000	112.50	1.00000	50.00	2.00000	100.00
STRAW	MULCHING	SY						
Secti	ion Totals:			\$775.00		\$650.00		\$300.00
	Co	ntract Totals		\$1,062,529.41		\$1,198,000.00		\$1,222,489.93
	Cost	Plus Time Totals		\$1,062,529.41		\$1,198,000.00		1,222,489.93

() indicates item is bid as Lump Sum



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

**Letting Date:** May 08, 2014 **District(s):** C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description		(4) TARHEEL E		(5) SCHIFANO CONSTRUCTION CORP			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001 151006M	1.000	6,316.41000	6,316.41	8,000.00000	8,000.00		
PERFORMANCE BOND AN PAYMENT BOND	D DOLL						
0004 153009P	(1)	500.00000	500.00	1,500.00000	1,500.00		
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS S						
0005 154003P	(1)	39,949.55000	39,949.55	150,000.00000	150,000.00		
MOBILIZATION	LS						
0008 157004M	1.000	5,197.50000	5,197.50	5,000.00000	5,000.00		
CONSTRUCTION LAYOUT	DOLL						
0012 159003M	30.000	132.57000	3,977.10	75.00000	2,250.00		
BREAKAWAY BARRICADE	U						



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	o / Item ID escription		(4) TARHEEL E		(5) SCH CONSTRUC			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0013	159006M	80.000	75.76000	6,060.80	45.00000	3,600.00		
DRUM		U						
0014	159009M	500.000	17.68000	8,840.00	10.50000	5,250.00		
TRAFFIC	CONE	U						
0015	159012M	560.000	15.15000	8,484.00	12.50000	7,000.00		
CONSTR	RUCTION SIGNS	SF						
0016	159015M	2.000	682.50000	1,365.00	1,250.00000	2,500.00		
CONSTR SIGN, 4'	RUCTION IDENTIFICA <sup>®</sup> X 8'	TION U						
0017	159027M	2.000	1,180.00000	2,360.00	500.00000	1,000.00		
FLASHIN	IG ARROW BOARD, 4	' X 8' U						



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

**Letting Date:** May 08, 2014 **District(s):** C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	o / Item ID escription		(4) TARHEEL E		(5) SCH CONSTRUC			
Alt Set	/ Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0018	159030M	2.000	1,770.00000	3,540.00	7,750.00000	15,500.00		
PORTABL SIGN	LE VARIABLE MESSAC	GE U						
0019	159108M	2.000	2,950.00000	5,900.00	10,000.00000	20,000.00		
	CONTROL TRUCK WI D CRASH CUSHION	TH U						
0020	159126M	27,500.000	0.21000	5,775.00	0.23000	6,325.00		
TEMPOR	ARY TRAFFIC STRIPE	S, LF						
0021	159138M	40.000	90.00000	3,600.00	95.00000	3,800.00		
HMA PAT	СН	Т						
0022	160004M	1.000	1,000.00000	1,000.00	1,000.00000	1,000.00		
FUEL PRI	ICE ADJUSTMENT	DOLL						



## **Tabulation of Bids**

Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contract ID: 14117

	o / Item ID escription		(4) TARHEEL E		(5) SCH CONSTRUC			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0023	160007M	1.000	3,800.00000	3,800.00	3,800.00000	3,800.00		
ASPHALT	Γ PRICE ADJUSTMEN	NT DOLL						
0024	161003P	(1)	9,255.74000	9,255.74	1,500.00000	1,500.00		
FINAL CL	EANUP	LS						
0025	201003P	(1)	5,584.66000	5,584.66	3,500.00000	3,500.00		
CLEARIN	IG SITE	LS						
0026	302051P	30.000	45.00000	1,350.00	45.00000	1,350.00		
	BRADED AGGREGAT DURSE, VARIABLE ESS	E CY						
0027	401009P	52,769.000	3.38000	178,359.22	3.50000	184,691.50		
HMA MIL	LING, 3" OR LESS	SY						



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

	Line No / Item ID Item Description		(4) TARHEEL E		(5) SCHIFANO CONSTRUCTION CORP			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		Cat Alt Set:		Cat A	It Member:			
0028	401015P	120.000	2.93000	351.60	5.00000	600.00		
CONCRE	ETE MILLING	SY						
0029	401021M	100.000	48.42000	4,842.00	75.00000	7,500.00		
HOT MIX REPAIR	( ASPHALT PAVEMEI	NT SY						
0030	401027M	44,500.000	0.46000	20,470.00	0.45000	20,025.00		
POLYME	RIZED JOINT ADHES	SIVE LF						
0031	401030M	8,643.000	0.01000	86.43	0.01000	86.43		
TACK CO	DAT	GAL						
0032	401054M	1,366.000	96.66000	132,037.56	80.25000	109,621.50		
_	( ASPHALT 12.5 M 64 E COURSE	Т						



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

**Letting Date:** May 08, 2014 **District(s):** C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description			ENTERPRISES IC	(5) SCH CONSTRUC			
Alt Set / Alt Mem	ber Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0033 401060N	A 6,233.000	81.65000	508,924.45	86.25000	537,596.25		
HOT MIX ASPHALT SURFACE COURS							
0034 401108N	<i>A</i> 50.000	105.00000	5,250.00	100.00000	5,000.00		
CORE SAMPLES, H ASPHALT	HOT MIX U						
0035 453006N	A 275.000	152.98000	42,069.50	350.00000	96,250.00		
FULL DEPTH CONPAVEMENT REPAI	*··=·=						
0036 602210N	<i>I</i> 16.000	455.90000	7,294.40	423.00000	6,768.00		
BICYCLE SAFE GR	RATE U						
0037 602213N	A 42.000	326.64000	13,718.88	400.00000	16,800.00		
CURB PIECE	U						



Tabulation of Bids

Counties: MIDDLESEX

**Letting Date:** May 08, 2014 **District(s):** C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contract ID: 14117

	Line No / Item ID tem Description			L ENTERPRISES (5) SCH INC CONSTRUCT				
Alt Se	t / Alt Member	Quantity and Uni	ts Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0038	602214M	23.000	195.19000	4,489.37	400.00000	9,200.00		
INLET F	ACE PLATE	U						
0039	606012P	23.000	168.77000	3,881.71	137.50000	3,162.50		
CONCRE	ETE SIDEWALK, 4" TI	HICK SY						
0040	606084P	9.000	372.93000	3,356.37	281.60000	2,534.40		
DETECT	ABLE WARNING SU	RFACE SY						
0041	607021P	26.000	143.85000	3,740.10	82.50000	2,145.00		
9" X 18" CURB	CONCRETE VERTICA	AL LF						
0042	610003M	30,000.000	0.32000	9,600.00	0.35000	10,500.00		
	STRIPES, LONG LIF RESIN 4"	FE, LF						



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description		(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0043	610009M	750.000	4.20000	3,150.00	4.29000	3,217.50		
	MARKINGS, OPLASTIC	SF						
0044	610012M	250.000	31.50000	7,875.00	26.95000	6,737.50		
RPM, MO LENS	ONO-DIRECTIONAL,	WHITE U						
0045	610018M	140.000	31.50000	4,410.00	26.95000	3,773.00		
RPM, MO	ONO-DIRECTIONAL, LENS	U						
0046	610024M	390.000	10.05000	3,919.50	3.50000	1,365.00		
REMOVA	AL OF RPM	U						
0047	702042M	1.000	1,653.75000	1,653.75	1,435.50000	1,435.50		
PUSH BI	JTTON	U						



Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contract Description: ROUTE 35 SOUTHBOUND FROM CLIFF AVENUE TO ROUTE 9

Line No / Item ID Item Description		(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

**Section Totals:** \$1,082,335.60 \$1,271,884.08



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contra	Contract Description: ROUTE 35 SOUTHBOUND FROM CLIFF AVENUE TO ROUTE 9								
Line No / Item ID Item Description		(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION	<b>I:</b> 0002	CONSTRUCTION	ON ENGINEERIN	G Cat Alt	Set:	Cat A	It Member:		
0006	155009M	1.000	39,979.40000	39,979.40	22,600.00000	22,600.00			
FIELD OF	FICE TYPE C SET U	JP U							
0007	155027M	5.000	4,030.67000	20,153.35	1,750.00000	8,750.00			
FIELD OF	FICE TYPE C ANCE	MO							
Section	n Totals:			\$60,132.75		\$31,350.00			



**Tabulation of Bids** 

Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contract ID: 14117

	act Description.								
Line No / Item ID Item Description		(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP					
Alt Se	t / Alt Member	Quantity and U	Jnits	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 NON-PARTICI			RTICIF	ATING Cat Alt Set:			Cat Alt Member:		
0002	152004P	1.0	00	5,741.21000	5,741.21	3,500.00000	3,500.00		
_	'S AND CONTRACT CTIVE LIABILITY NCE	FOR'S DO	LL						
0003	152015P	1.0	00	18,000.00000	18,000.00	500.00000	500.00		
POLLUT	TON LIABILITY INS	JRANCE DO	LL						
Secti	ion Totals:				\$23,741.21		\$4,000.00		



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

**Letting Date:** May 08, 2014 **District(s):** C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contract Description: ROUTE 35 SOUTHBOUND FROM CLIFF AVENUE TO ROUTE 9

Line No / Item ID Item Description		(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP				
Alt Se	t / Alt Member (	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 EROSION CO			ITROL Cat Alt Set:			Cat Alt Member:		
0009	158027M	30.000	98.31000	2,949.30	10.00000	300.00		
INLET F	ILTER TYPE 1	SF						
0010	158063P	(1)	2,992.50000	2,992.50	3,500.00000	3,500.00		
CONCR	ETE WASHOUT SYSTE	EM LS						
0011	158072M	2.000	2,530.55000	5,061.10	1,500.00000	3,000.00		
OIL ONL TYPE 1	Y EMERGENCY SPILL	.KIT, U						
C4	an Tatala.			¢44,000,00		¢c 000 00		

**Section Totals:** \$11,002.90 \$6,800.00



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description		(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
<b>SECTION</b> : 0005	ROUTE 35 OV COASTLINE S	ER NORTH JERSEY Cat Alt Set:			Cat Alt Member:			
0051 555025P	115.000	339.76000	39,072.40	484.00000	55,660.00			
RETROFIT STRIP SEAL JO SYSTEM	OINT LF							
Section Totals:			\$39,072.40		\$55,660.00			



Counties: MIDDLESEX Contract ID: 14117

Letting Date: May 08, 2014 District(s): C1

Project(s): 100% STATE Call Order: 117

Contract Time: 12/30/14 COMPLETION DATE

Contract Description: ROUTE 35 SOUTHBOUND FROM CLIFF AVENUE TO ROUTE 9								
Line No / Item ID Item Description			(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0006	PINE AVENUE ROUTE 35 NO STRUCTURE	(CR 688) OVER RTHBOUND	Cat Al	: Set:	Cat A	It Member:	
0052	551014P	90.000	108.18000	9,736.20	34.10000	3,069.00		
DECK JC	DINT RESEAL	LF						
0053	551006M	50.000	90.95000	4,547.50	129.80000	6,490.00		
REPAIR TYPE B	OF CONCRETE DEC	CK, SF						
Section	on Totals:			\$14,283.70		\$9,559.00		



Tabulation of Bids

Contract ID: 14117 Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Line No / Item ID Item Description		(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0007	ROUTE 35 OV AVE (CR 615-8 STRUCTURE	ER BORDENTOW SB ONLY)	'N Cat Alt	Set:	Cat A	It Member:	
0054 551014P DECK JOINT RESEAL	55.000 LF	102.08000	5,614.40	34.10000	1,875.50		
0055 551006M  REPAIR OF CONCRETE DEC	100.000 CK, SF	65.75000	6,575.00	129.80000	12,980.00		
Section Totals:			\$12,189.40		\$14,855.50		



**Tabulation of Bids** 

Counties: MIDDLESEX

Letting Date: May 08, 2014 District(s): C1

Call Order: 117 Project(s): 100% STATE

Contract Time: 12/30/14 COMPLETION DATE

Contract ID: 14117

Contract Description: ROUTE 35 SOUTHBOUND FROM CLIFF AVENUE TO ROUTE 9

	Line No / Item ID Item Description		(4)	(4) TARHEEL ENTERPRISES INC		(5) SCHIFANO CONSTRUCTION CORP			
Alt Set / Alt Member Quantity and Units		its Un	it Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0008 LANDSCAPE		Έ	Cat Alt Set:		Cat Alt Member:				
0048	803006M	50.000		8.40000	420.00	10.00000	500.00		
PREPAR	RATION OF EXISTING	G SOIL SY							
0049	806006P	50.000		2.10000	105.00	1.00000	50.00		
FERTILIZ A-3	ZING AND SEEDING	, TYPE SY							
0050	809003M	50.000		2.10000	105.00	1.00000	50.00		
STRAW	MULCHING	SY							
Secti	on Totals:				\$630.00		\$600.00		
	Contract Totals				\$1,243,387.96		\$1,394,708.58		
	Cost F	Plus Time Totals			\$1,243,387.96		\$1,394,708.58		

() indicates item is bid as Lump Sum

**Vendor Ranking** 

Page: 1

Call Order: 117 Contract ID: 14117 Counties: MIDDLESEX

**Letting Date:** May 08, 2014 10:00 AM **District(s):** C1

Contract Time: 12/30/14 COMPLETION DATE

Contract Description: ROUTE 35 SOUTHBOUND FROM CLIFF AVENUE TO ROUTE 9 Project(s): 100% STATE

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	S8162	STAVOLA CONTRACTING CO., INC.	\$1,062,529.41	100.00%
2	15980	INTERCOUNTY PAVING ASSOC LLC	\$1,198,000.00	112.75%
3	D2206	JOSEPH DEFINO TRUCKING CO INC T/A DEFINO CONTRCTING CO	\$1,222,489.93	115.05%
4	T0546	TARHEEL ENTERPRISES INC	\$1,243,387.96	117.02%
5	S1389	SCHIFANO CONSTRUCTION CORP	\$1,394,708.58	131.26%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,